r=— - =
( BEHER )HWBEFEXRCH
O—KBe 2019% 5812A( B ) EfELT/ - EBL TV ~ov BB 2019% B5A25H( ) ~ 58278(A)
HAT-BEBE [1-2&( TOYO TREM KR4 )\ KIEERM BF 54 km. XF 278 km % KIRISHIMA ¥ FoSBBAE BEERLS |G- HEs( A&k 400m )

HEEE KEE fdth HEEE KE it BTt 53z (Wﬁﬁﬁ)
4kmTP FRE BH |4 EFA FE EFA FE  |EFE FE  [EF2 FE |BFE EFA
142 MM T =ik 45338%0275 Rk St R ORE 3|4 R 3B &K 2
24L
3
441
54
61
74I
84
F—LRTY | 2RB B8 AL EFA FE EFA FE O [EFL FE O |EFHL FE |[EFA EFHL
14 HIWITE = 1432470212 g st 3 "R ORE 3 R IS 2
24 BIBRE =ik 143275545 S5 M 3 3w BN 3 A HX 1
3 EREFE =& 1433170589 BA MK 2 W A 2 &F B 1
4fL
541
61
74z
84
Tk EFA k- FRE 2% 200m44 A ROSVF BEFL FE FRE B4 BA L

1462 g Hi 3 HHITE =L 1170758 16|  &iE BEKES 2 AT E =g 115348%0535

24 TR RE 3 BEIE = 1155929 24 EE 1K 2 BEIE =

34z S 3 3 BIBRE = 110578 34z gk st 3 MBITE =

44 pote L 2 MHIE =L 110680 44 M R 3 MHIE =g

54 B Rk 2 EEFE = 1255037 541 BIE B 3 BEIE =

61 B0 #3E 2 MBITE = 12§0249 61 B BN 3 BIBRE =

741 B BN 3 BIGRE =I5 125038 741 eIt K0 1 MHIE =g

8fi e R 3 BEIE = 1150914 81 ®EH w®T 2 EEFE =

ofiz =ik FEARER 2 MBITE = 1270384 9fiL BH Mk 2 ERZE =

104 B A8k 3 T E I 120493 104 TR R 3 MHIE =g

. " < . s . EREN

1kmTT BFL FE FRA 24 EEPN LRV EFR FE FRA B2 16 1)

14 fogE Slth 3 HHIE =0 15>08%)305 141 gk Sl 3 HMHIE = 36

241 R RE 3 HHIE =G 1531072060 241 RIS A8 3 HHIE = 18

34 R I8 2 HMHIE =i 151150298 34 SH 3 3 = ES =i 15

441 M R 3 HHIE = 1531280517 441 B0 ME 2 HHIE = 6

541 =ik FERER 2 HHIE =G 1531370490 54 L XA 1 HHIE = -10

61 S 3 BIGRE = 1531370628 61

74z B0 PR 2 HHIE = 143137680 74

811 B A8k 3 HHIE =G 1531550338 841

ofif ¥ K# 1 HMHEILTE =g 1531585596 9fiL

104 B Rk 2 EmEPE =] 153167353 104
3kmlP EFE HE FRE 24 EEON AkmiEE BEFE HAE FRE 24 BELL

14 g st 3 HEITE = 3533775543 1461 SH 3 3 BIBRE =

24 A R 3 BHIE = 3534970668 24 B BN 3 BIGRE =

34 R RE 3 HMHIE = 3534955739 3fi TR RE 3 HMHIE =

441 ik FEKRER 2 HHIE =] 3575250661 A1) Btk BEARE 2 MEITE =] 5531870945

54 BIE A8k 3 METE = 35530696 541 BH Mk 2 EREFE =

611 ¥ K#0 1 ERITE = 355480377 64 BIE sk 3 BHITE =

74z B0 PR 2 HHIE =] 35356%0420 74z ped IR L 2 MEITE =

8fiL Pt IGL 2 MHEITE = 3535985264 8fi ®E A 2 ERFE =

ofx ;BN 3 BIREE = 355980618 ofi B0 #E 2 BHITE =

104 SH 3 3 S =] 4570450293 104 27 B 1 FERAEE =

. . . - . B4 L

A BFA e FRE B4 BELSL L'E'_{fb_x EFAH e FRE B4 T o

142 Ml R 3 METE = 1256319 161  &iE BEKES 2 #MEIE =i 1B5R921558%)

24 hogk slth 3 HEMIE =] 24 4L KFn 1 HEIE =i

3fi B K 2 BEIE =] 3fi 1A R 3 BEIE =

46 ELELES 2 EREZE = 44 B0 ME 2 HMETE =

54 S 3 BIREE =g 541 Pt Ipd ] 2 MHIE =g

61 B0 PE 2 BEIE =] 61 BIE B 3 BEIE =

74z TR RE 3 MBITE = 125782 74z SH 3 BIBRE =

81 ;BN 3 BIREE =g 81 g H 3 MHIE =g

ofiL it XM 1 BEIE =] ofi TR RE 3 BEIE =

104 hit K 2 = =g 104 B BN 3 BBEE =




ZFiER

2kmIP EFA FE A B4 RPN
141 #0 EF 3 I E = 2534870656
241 E5> Bk 2 HRTE =G 2435470586
341 AR FIF 3 HEITE = 2535450817
441 B XE 1 MM T E = 243555061
54 FR R 1 HMHEITE = 343 10%0592
6| WTF FHF 2 BIBRE = 3518553
741
81
9fiL
104L

500mTT BEBFL FE FRA B4 B L
141 A IR 3 EMHITE = 39F)851
241 WT BhE 2 LS =G 400693
341 s EfE 1 HHIE =G 407796
44 F£R A 1 HMHITE =G 417810
54 E5 BRE 2 HMHEITE =G 4175910
61 A0 EF 3 HMHIE = 42%9221
741
81
9fiL
104

X =y A4 L
B e e S RE | — ffs —
141 B B 2 EMHITE =G 465217
241 FE FIE 3 HHIE BiE
34 #£0 #EF 3 HHITE =G
441 WF BhE 2 BIBRE =G
511 FER BA 1 HHIE =
61 BT EfE 1 HHIE =
741
81
9fL

104




